2021 WORKSHEET 1
NUMERACY YEAR 6

Answer all the questions.
Show all necessary working.

Questions
1. | The underlined digit in 89,783 represents
2. | The prime factors of 18 are
3. | The number 31,623 when rounded off to the nearest ten thousand will be
4. | Study the sets given below and answer the question that follows:
Set Y= (10, 20, 30, 40)
Set L = (40, 50, 60, 80, 100)
YULis
5. | Arrange the six digit numbers in ascending order:
529,564 532,575 529,713 512,267
6. | The sum of 33.65 + 8.4 + 0.02 is
7. | Three thousand, two hundred and sixty one when written in numerals
will be
8. | Which of the following is a composite number?
Circle the letter of the best answer.
A7 B. 11 C. 13 D. 21
9. 16 .
Change 5 into mixed number.
10.| The number 213.458 x1000 =
11.| The next number in the pattern 11, 15, 19... is
12.| (4 + 2) x n = 24. The value of nis equal to
13.| Which number does not belong to the number pattern in Set Z?
z-={..13, 18, 23, 28, 33, 37,43 ...}
14. | Calculate the perimeter of the square given below.

6 cm




